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6.1-6.4
1. Rewrite in standard form.  Identify the leading coefficient, degree of the polynomial, and the number of terms.
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2. Multiply.  Write your answer in standard form.
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3.  Multiply. 
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4. Divide by using long division.
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5. Divide by using synthetic division.
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6. Use synthetic substitution to evaluate the polynomial for the given value.
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7. Use synthetic division to determine if the given binomial is a factor of P(x).
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8.  Explain why 
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 is not a polynomial.

9. Add or subtract. Write your answer in standard form.
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    10.  Factor the trinomial.  
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